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d) The graph of = (x — 2)? — 1 can be obtained by
applying s horizontal ransiaion 2 waits o th right
and s vertcal transation 1 vait doven
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e (2, -1); axis of symmetry: x = 2;
Gomain: x = R; range: 21 x-ntercepts: x = 1
and 3;y-intercept: y= 3
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4.3) The graph can be obtained from the gragh of
()= by applying a horizontal transation 7 uaits
o the Ief, 2nd a vertical translation 3 units dowa.
b) The graph can be obtained from the graph of
7G) =2 by applying a change in width about the
“x-axis by 2 factor of 2,  reflection i the x-2xis,
‘2nd a vertical transltion 5 uaits .

) The graph can be obtained from the graph of
09 = by applying a change i width about the

[y ——

a horizontal translation 3 units to the right.
d) The graph can be obtained from the graph of

76 = by applying a change in width about the
x-axis by 2 factor of 4, a horizental translation 2 unifs
o the left, and a vertical translation 1 unit down.
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vertex: (-1, 0); axis of symmetry: x = —1;
domain: x & R; range: » 2 0; x-intercept:
Jintercept: 3

') The graph of y = (x + 47 = 3 can be obtained by
applying a horizontal transiation 4 units to the left
and 2 vertical translation 3 vaits up.

‘erte: (-4, 3); axis of symmetry: x = —4
domain: x & R; range: y 2 3; x-intercept: none;
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'BLM 34 Section 3.1 Extra Practice
1. ) The graph can be obtained by spplyiag a change
i width about the x-axis by a fctor of 3. The greph
opens uprward, has @ minianuan y-value of 0, and the
fange s 20
b) The graph can be obtained by applying & change ia
width sbont the x.axis by a factor of 5, and then &
reflection in the x-axis. The graph opens dorwavard,
has 3 maximum y-value of 0, and the ange is y S0
<) The graph can be obtained by applyiag a vertical
trauslation up § units. The graph opens vpward, has a
iaianom y-value of $, aad the range is 2 5.
) The graph can be obtained by applying a vertical
trauslation dovwn S vais. The graph opeas upward,
has & minimom y-value of -5, and the range i 2 -5
2. 2) The graph of y = (x — 6 can be obtained from
by applying a horizontal translation 6 vt to
‘e right
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vertex: (6, 0); axis of symimetey: 1= 6;
domain x < R: range: 2 0; vintercept: x = 6;
yintercept y = 36

) The graph of = -+ 1) can be obtained by
applying a horizontal ranslation 1 it o the left




